EARAROBREBRT —5 XN—ZXBISH—F

20226833H (&) 40EH4HE

B C 9f8 SR —Ai% B
[AXE%] 1 &:300,00 M  2&:90,00H  3#&:4500H  437%:30,000H 53 :15,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
F~> LI\ RS : -1-1- - BOEE (&0
1 4 | EUFVILYN B9 /;RSOTE 1.(3_2).7 1-1-1-1 | 40.9 1 (g% ﬁ?ﬁ:( 1)
RIX—ARSAYYF— B:FARISvS HFE BB
S~y B : -3-2- - HEEE (%)
27 7| PLyyTTs— 4 5 i 1(73211)7 3-3-2-2 | 40.7 4 (4_118) ] A
RTI4TN D—=ILEY B:RFSL—Y FrIEF VAT 77—
N R - P— : 93 _ HIREER (%A
305 5 EL/NLEYS B4 BT i S IR ey - i
R:AWTz—=I) B:IA—VHAFIIR L fREE
o so4 | MAREE 1:33.5 6-7-8-8 | 40.4| — 8 | 379 |fPEER— (A
R:O0—RHF0O7 B:ANLT«A—L TATAT7—1
<, 4 | KiEE 1:33.5 5-4-4-4 | 4.0 — 2 468 | SEBZ (BEHE)
5[1)1| 072700 AR i ) (5 | @0 ETH-TU—5-Z 127
RiFRF H:YRUIRZ—9 HEARZAITw K~
. 5 | HOEEES— 1:34.5 4-5-6-6 | 41.6| — 5 | 400 |EOHEE (%)
6lglg|A—=y7 R ® o) |EEEE
RiVEWIF— B:IS5YvITaFS xR =
o N~ HEEZ 134, ~6-5- . - REEE— (0
7B 2 NERZ VYD 7 ae i Sl M ° ?525) itz
RiZa—AVISUR B:ISA VYYD B JlB—
— t 9 | B 1:35.5 8-8-7-7 |42.0| - 7 475 | DOBESER (SEHL)
sy 6| F2VO=T ! 54.0 7 o | @ =KL
R:FavIRTLYS B:F300FSFF [fke]
@ 11— —BBIEfI
10—+— 4,5,7,8,1,3,2,6
20—F— 4,5,7,1,8,2,3,6
30—7— 4,7,5,1,2,8,6,3
43—F— 4,7,5,1,2,8,6,3
o ILRE
B B 4 140M JA R 4-7 210M4 B E 4-7 440M4 3EE 4-5-7 680M4
7B B 4 100 4-5 230 =51 4-7 540 3EH 4-7-5 1,970M
7 140 5-7 4504
5 130

ABIC OV TRUTEREERRODDZE. THRIIZEL.




